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PART-A

Q. 1 To get to the Architecture department, you have to go ............. those stairs and then .......... the
corridor to the end:
A. over, into B. up, along C. out of, between D. between, into

Q. 2 What is the idiom of “a creature of habit™:
A. A person who like to do the same thing at the same time on a regular basis
B. A person who like to do new thing on a regular basis
C. A person who like to do new approaches to different problems regularly
D. A person who like to discover things occasionally

Q. 3 Select the appropriate antonym of word ‘Leery”:
A. Wary B. Poor C. Vigilant D. Trustful

Q. 4 Select the most appropriate synonyms of the given word:
Redundant
A. Arrogant B. Essential C. Superfluous D. Ignorant

Q. 5 Select the most appropriate option to fill in the blank:
This app is @ very .....ccccceevcveevnesieerennn.0n€ for online shopping.
A. Convenience B. Competency C. Capable D. Convenient

Q. 6 Select the option that can be used as one word substitute for the given group of words:
In exactly the same word as the original.
A. Verhatim B. copy C. duplicate D. imitation

Q. 7 Select the most appropriate option to fill in the blanks:
The roof the weight of the snow.
A. collapsed under B. collapsed to C. collapsed for D. collapsed with

Q. 8 Select the option that can be used as a one word substitute for the given group words:
The study of population and its dynamics.
A. Demography B. Dermatology C. Democracy D. Dysgraphia

Q. 9 Select the INCORRECTLY spelled word:
A. Osclate B. Ensue C. Leverage D. Bonfire

Q. 10 Select the most appropriate antonym of the given word:
Linger
A, Annoy B. Leave C. Entertain D. Choose

Q. 11 The largest number that will divide 398,436 and 542 leaving remainders 7,11 and 15 respectively
is:
A 17 B. 11 C. 34 D. 45



Q. 12 Mr. Mukesh purchased two watches at the same price and sold one at a profit of 20% and the
other at the profit of 22.5%. If the difference between the two selling price is Rs. 150, what is the cost
price of each of the watches?

A. 3000 B. 4000 C. 5000 D. 6000

Q. 13 The product of 2 numbers is 1575 and their quotient is 9/7, Then the sum of the numbers is —
A 74 B. 78 C. 80 D. 90

Q. 14 The tota! sales of a company amounts to Rs. 24 crores and the volume sold is 20000 units, What is
the average price/unit?
A. Rs. 1000 B. Rs. 1200 C.Rs 120 D. Rs.12000

Q. 15 Ram sold a motorcycle for 70000 and 25% profit for what price should he sell a motorcyele to gain
30% profit:
A, 72900 B. 72800 C. 72600 D. 72700

Q. 16 If A alone can do a job in 72 days. Then in how many days can B alone do the job if together they
can do the job in 40 days:
Ao 120 B. 90 C. 108 D. 80

Q. 17 If a sum of money at simple interest becomes 36 times in 100 years, than it will become 29 times
in:
A. 48 vyears B. 87 years C. 90vyears D. 80vyears

Q. 18 An amount if given on interest becomes four times in 6 years. In how much times span will it
become 64 times if the rate of interest remains unchanged?
A. 8years B. 16vyears C. 18vyears D. 24 vyears

Q. 19 A train 250 m long, passes a pole in 24 seconds. How long will it take to pass a platform 650 m
fong.

A. 65 B. 89 C. 100 D. 105

Q. 20 Introducing a boy, Sia says “He is the grandson of my father. [ have no siblings”. How is Sia related

to the hoy?
A, Aunt C. Mother
B. Grandmother D. Cannot be determined

Q. 21 If HE=13 and MOVER=73, the BASIC=?
A 55 B. 34 C. 50 D. 49

Q. 22 Select the missing number from the following series; 111, 222,444,7,1776, 3552
A, 999 B. 838 C. 1780 D. 177

Q. 23 Neha is the only girl of her father and her father is the father-in-law of Pranav’s brother. Pranav is
Rajeev’s nephew, How is Rajeev related to Neha?
A. Father-in-law B. Daughter-in-law . Uncle D. Brother



Q.24 1,2,3,14,5,34,7,°, %
A. 68,7 B. 62,9 C. 63,9 D. 60,11

Q. 25 In acode Language, BACHELOR is written as an SNMDIBBA. How will COHESION written in that
language:

A. ONIFFTJBP B. ONIRFGPB C. NPHTDING D. BPJTFING

Q. 26 What was the day of the week on 31 January, 2008:
A. Saturday B. Sunday C. Monday D. Friday

Q. 27 Find Missing Letter

F 1w Q
A 1) K
E M ?
A.B B.D C.G D.G

Q. 28 Find Missing number
45 i 64 | 78
12:? 130
33123148

A. 36 B.41 C.56 D. 62

Q. 29 The Comptroller and Auditor General (CAG) of India has flagged irregularities in which scheme?
A. PM KISAN
B. Bharatmala programme
C. Sagarmala programme
b. PM DISHA

Q. 30 In January 2022 which country tock over the G7 Presidency?
A, Germany B. France C. Austria D. Netherlands

Q. 31 India’s Chandrayaan-3 spacecraft successfully landed on the Moon on:
A. August 21, 2023
B. August 23,2023
C. August 25, 2023
D. August 29, 2023

Q. 32 Which country approved ‘National Research Foundation (NRF)' Bill, 2023:
A. USA B. India C. lapan D. Australia

Q. 33 Which scheme was launched by the Government of India to connect more and more people from
the banking services:

A. PM lan Dhan Yojna C. Skill India Mission

B. Make In India D. PM Mudra Yojna
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Q. 34 What is the name of the scheme aimed at providing broadband internet access to all villages:
A. BharatNet B. India BB C. Agninet D. SagarNet

Q. 35 Which of the following designed the New Parliament Building:
A. Bimal Patel B. Herbert Baker C. Ram V Sutar D. PBrindya Somaya

Q. 36 Which of the following country will host Women'’s FIH Hockey Olympic Qualifiers?
A. China B. India C. Germany D. Spanish

Q. 37 Who is the implementing agency for Green Energy Corridor (GEC) Phase-l-Inter-State
Transmission System (ISTS) for 13 GW Renewable Energy Project in Ladakh?
A. NTPC B. POWERGRID C. ADANI D. BARC

Q. 38 Which country has recently passed ‘Anti-Terrorism Bill’ to replace the Prevention of Terrorism Act?
A . India B. Pakistan C. Srilanka D. Afganisthan

Q. 39 Avangkhu is India’s first village on the border of which country?
A, China B. Myanmar C. Pakistan D. Laos

Q. 40 Which institution launched ‘SuSwagatam’ online system?

A. Union External Affairs C. Supreme Court of India
B. NITI Aayog D. Reserve Bank of India
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PART B DOMAIN KNOWLEDGE

Q. 1 Facet Formula of “Literature {0)" main class in Colon Classification 6™ edition, [P2] denotes the .......
A. Llanguage B. Form C. Author D. Works

Q. 2 “NERcat” is a subset of which Union catalogue.....
A. Worldcat C. Indcat
B. Worldcat Discover Cloud search D. Jsetcat

Q. 3 The announcement of “SOUL” software by INFLIBNET in which convention.....
A. PLANNER C. NACLIN
B. Annual Convention D. CALIBER

Q. 4 “INDcat” by INFLIBNET includes which type of Documents...,
A. Books C. Books+Theses+Serials
B. Books+Theses D. Books+Theses+Serials+Monographs

Q. 5 Which chapter of Colon Classification represent the “Space Isolate” in Schedule (Part ii).....
A. Chapter 2 B. Chapter 3 C. Chapter 4 D. Chapter 5

Q. 6 “Librametry” coined by S R Ranganathan in which conference.....
A. LA conference 1948 C. IFLA conference 1948
B. ASLIB conference 1948 D. ALA conference 1948

Q. 7 The correct sequence of three individualizing elements of conference, congress, seminar etc.
according to AACR2 is.....

A.Year: Number: Place C. Place: Year: Number

B. Number: Place: Year D. Number: Year: Place

Q. 8 “CONTENTdm” is a product of OCLC belong to.....
A. Inter library loan C. Digital collection builder
B. Cloud computing D. Integrated Library Management System

Q. 9 Year 1972 was being celebrated as International Book Year with Slogan.....

A. Books are Friends C. Books make Life

B. Books for All D. Books a part as Family
Q. 10 According to 1S 1553: 1989, Gangway space required between two racks.....

A, 2.80 mts B. 3.80 mts C. 1.80 mts D. 2.50 mts
Q. 11 “Mobile Digital Library : Dware Dware Gyan Sampada” is an initiative of .....

A, NISCAIR B. RRRLF C. INFLIBNET D. CDAC

Q. 12 “InfiStats” is a service offered by which agency.....
A, RRRLF B. INFLIBNET C. NISCAIR D. CDAC
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Q. 13 Who is known as the “Father of indian National Bibliography”
A. 5.R.Ranganathan C. Conrad Gesner
B. C.A.Cutter D. B.S.Kesavan

Q. 14 In which year Chhattisgarh Public Libraries Act enacted:
A. 2005 B. 2008 C. 2009 D. 2013

Q. 15 Zero based budget is concerned with
A. Present C. Future
B. Past D. Remote future

Q. 16 According to Dr. S.R.Ranganathan ‘Library Civics and Hygiene’ means:
A. Library behaviour C. Physigue of Book
B. Library layout D. Care of Book

Q. 17 Who developed Nested Phrase Indexing System {NEPHIS)?
A. S.R.Ranganathan C.T.C.Carven
B. J.O.Kaiser D. Ganesh Bhattacharya

Q. 18 According to DDC, what is the classification number for Architectural Conservation?
A.720.1 C.720.473
B.720.288 D, 720.954

Q. 19 Physical condition of the books shouid be property maintained, this is known as
A. Organisation C. Conservation

B. Collation D. Shelf arrangement

Q. 20 What is ‘Dogmatism’?

A. The science of method C. The process of tentative research
B. Pasitiveness in the assertion in matter of D. The object to rationalize research
opinion

Q. 21 Under copyright agreement the amount of royalty is computed on the basis of
A. Number of books published C. Total cost of boaoks published
B. Annual Number of books sold D. Total sale price of the books sold

Q. 22 Find the “patent search and retrieval database’
A. Dspace C. Espacenet
B. Google Earth Pro D. SpaceX

Q. 23 The following is not the ‘citation database’
A. Web of Science C. JSTOR
B. SciFinder Scholar D. Scopus

Q. 24 “Vidwan' (Expert Database and National Researcher Network) is developed and maintained by

INFLIBNET under which project?
A. NME-ICT B. NKN-NIC C. NKN-ICT D. NDLI-ICT
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Q. 25 Term “Data Smog" refers to:

A. Too much information can create a barrier in C. Data create for making databases
our lives
B. Information create for society D. Delete data from valuable databases

Q. 26 Intellectual Property Rights {IPR) covers:

1. Patents 2. Computer Programimes
3. Annual Copyright 4. Censorship codes
A, 1,2 and 4 are correct B. 1,2 and 3 are correct
C. 2 and 3 are correct D. 3 and 4 are correct
Q. 27 Which library Association is the oldest and largest library association in the world?
A. SLA B. LA {UK) C. ALA D. ILA

Q. 28 A technique displaying graphic information on screen, pixel by pixel with bits held in main memory
is:
A. Bit Handiing B. Bit Mapping C. Bit Pattern D. Bit Matrix

Q. 29 The marketing concepts in Library Service include:
A. Analysis, planning, implementation and control
B. Advertising, planning, analysis and control
C. Distribution, control, analysis and implementation
D. Indexing, planning, control and implementation

Q. 30 The geographical identifier number is 1ISBN given to Indian books is:
A 81 B, 82 C.83 D. None of these

Q. 31 In which search technique, searching using facts is available and refines the search strategy step by
step?

A. Exhaustive information C. Pearl growing

B. Precision D. Snowball

Q. 32 The first RFID application was:
A. ldentification Friend or Foe system (FF) C. Electronic Product Code {EPC)
B. Electronic Article Surveillance (EAS) D. None of these

Q. 33 The National convention regularly organized by DELNET is known as?
A. CALIBER B. ICDL C. NACLIN D. DELNETCON

Q. 34 All DOI prefixes begin with:
A, “10” followed by four-digit string C. 10" followed by a three-digit string
B. “10’ followed hy a five-digit string D. “20” followed by a five-digit string

Q. 35 The first librarian of National library of India was:
A. R.K. Dasgupta B. B.5.Kesavan C. D.R.Kalia D. P.N.Kaula
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Q. 36 Which city hosted “Festival of Libraries” recently organized by the Ministry of Culture, August 5 to
6, 2023
A. Mumbai B. New Delhi C. Ahmedabad D. Kolkata

Q. 37 Which of the following is not an open-access database:
A. DOA) B. ERIC C. WIKIPEDIA D. Emerald

Q. 38 Which one is not a product of ProQuest:
A. Ebrary B. METADEX C. Dialog D. CENDEX

Q. 39 Which among the following is an example of a vertical portal:
A, i-village B. Yahoo C. Google D. Net scape

Q. 40 DSpace institutional repository software is issued under which license agreement:
A. BSD License C. MiIT license
B. GNU general public license D. Apache license 2.0

Q. 41 Which of the following is a free database:

A. JSTOR C. SCOPUS
B. Biological abstracts D. arXiv
Q. 42 Emerald publishing is now acquired (June 2022) by:
A. Cambridge information group C. Elsevier
B. Proguest D. Taylor and Francis

Q. 43 arXiv is maintained and operated by which University:

A, Cambridge University €. Cornell University
B. Stanford University D. TIFR Mumbai
Q. 44 TDD means:
A, Travel division duplex C. Time division duplex
B. Trans division duplex D. Transaction division duplex
Q. 45 "Open Textbook Library’ Movement is supported by:
A. Raja Rammohan Roy Library Foundation, C. Oxford University Press
Kolkata D. University of Bristol {IT Services)
B. Open Education Network {University of
Minnesota)
Q. 46 The server on the Internet is also known as:
A. Bridge B. Hub C. Client D. Host

Q. 47 The following device is used to connect different network segments and manage the traffic
between them:
A. Switch B. Gateway C. Bridge D. Repeater

Q. 48 Which one of the following is the IEEE standard for Wimax:
A. IEEE 802.3 B. IEEE 802.11 C. IEEE 802.16 D. IEEE 802.15
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Q. 49 ISBD now contains how many areas of description?
A. Seven B, Eight C. Nine D. Ten

Q. 50 2011 the centenary year of publication OF i
A. Sears List of Subject Headings €. Systematic Indexing
B. Expansive Classification D. Grammar of Classification

Q. 51 A History of Cataloguing and Cataloguing Methods is authored by?
A. Dorothy Mary Norris C. S M Tripathi
B. Krishan Kumar D. Eugene R Hanson

Q. 52 Which one of the following is not based on FRER model?
A. Libsol B. Virtua LS C. Red Light Green D. BIBSYS

Q.53 is a process of helping employees in an organization to acquire new skills and
competence on a continuing basis:

A. Total Quality Management

B. Management information System

C. Financial Resources Development

D. Human Resources Development

Q. 54 What is the regular budget grant given every year called?
A, Plan Grants C. Ekqual Grants

B. Non-plan Grants D. Economical Grants

Q. 55 Under which web services library website create free of cost?

A. Wordpress B. loomla C. Google Sites D. Drupal
Q. 56 D-Base is -~ :

A. Application Software C. Internal Software

B. System Software D. External Storage

Q. 57 Which one of the following is not the enabler of the Internet of Things?
A. Iintelligence C. lrreconcilability
B. Integration D. Interoperability

Q. 58 Which State in India declared Koha as the official ILS for the public libraries?
A. Bihar B. Kerala C. West Bengal D. Telangana

Q. 59 Which of the following is not a plagiarism detection software?
A. Copy Leaks B. Viper C. Paper Rater D. Zebra

Q. 60 DRDO e-journal consortia was established in:
A, 2006 B. 2007 C. 2008 D, 2009
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